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@HIHEE & eg: k-meansZH

HAI2H(u,v) HEl:

S22l JHel(Euclidean): d,, = \/Z(uk—vk)2

p
HE |20t Hel: d,, = Y, (uy—v,)?
k=1

P
S22l d,, = Y, luy— vl
k=1

o P (average linkage): di, ), = (d +d,, ) (&2,

d(u,r)ur = %(duz + duw + d@w)(jél [_:H’H)

Z eHH A Y (single linkage): d(,.,), = min(d,,, d,,) OtEINES &=)
Z & A2 Y (complete linkage): d, ), = max(d,,,d, )( HEH & =)
SaleiZ(centroid linkage): d,,,), = d.; , (R22I= AHel)

eg) N=3, p=2

v w
. * 4

A2 Hel=H3%2elCIet Hel(Euclidean):

(vy,—w,)* = 1-3°+(1—-1)?* =4

Bo(BgHHZE: d, ) = (dw—&-d )= (10 +4) =17,
BR(EEWHZY: dy) = (du, +d,, +d,,)= ;(2+10 +4) = 5.333
FAHF2FOIR)AZY: d, ), = min(d,,,d,,) = min(10,4) = 4
AFOIEHIR)AZY: d,.,), = maxnld,,,d,,) = max(10,4) = 10
SANZEYH: w = (u+v)/2 =(0,0)+(1,1))/2=(0.5,0.5)

_'I_

(up—v,) = (0—1+0-1)* =2, d,, = Y, (u,—w,)* = (0—3)*

28t ™ (divisisive) ghe 1t & 8 M (agglomerative) 2 (Start with n clusters, SPSS).

+(0—1)*

12 S AFM(similarity)0] =2 MHISEZ WA ZE2
Ct =

10



= (0.5—3)*+(0.5—1)*=6.5

= d_
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17.470
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51.480
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73710
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250.771
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]
a
13
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4
2
7
]
3
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10
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i)
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455.023

(min distance)
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W=D Hel =282 ==

o s 10 15 20 25
L I 1 I 1
commerce A
chohung 10
seoul 5

first

hanil 12

house 4

- enterpr

exchange g

shinhan

boram |
hana g

city 7

For k=3 ~ (3,11,7), (6), (L}HXI)

HEAAM Jots 28+ X3,

W Ne= zusa E = L= N @asszgenmul = |
200
& W ot 5 A -l -
- Ll Lﬁm O A E LS
B |2 ae L. | =
& = L@l @ e aiE(E)
& i ' 23 2@)
IO e R TS ey 2e ek
el (&= | O PR
= i b Y 3 e
- O R =
| |
EBHME &SI
[o=me  |[sorsTie] | S se el || == A )| FHE [ == ]
= — e — ————~
| dalts Fmay Fusn| S | Fzz | Fun | duss dauir |
1| Kookmin 7 594 87 53 66.9 626 1
2 emer 65 703 685 52 680 81 1
3 [boam 7 796 785 624 798 624 2
4| commerce b 5.0 656 544 645 539 1
5 sl 63 865 679 5.0 57 620 1
6 |shinhan 7 591 742 0.0 701 66.2 3
7y 6 720 T4 5.9 728 578 2
8 |exchange 68 675 673 513 73 655 1
9 st 66 55 673 507 634 633 1
10| choung 6 5.7 83 539 617 627 1
| hana 8 M3 W5 @6 757 59 2
2 b 6 855 683 198 B46 5 1 1
1 house 6 83 678 597 657 618 1

CHXHR & & Y (multidimensional scaling)

WM 2tel 28 HE Zg FXE BN 012 <o HEH HXE 20 A= 8 A0Sl 2ot
FOHA SAE E2 40ld S Jtsst & JrZH 2XE=SF 0l S22 S& AX0 2=840l
sgECh O 20 oie MXE 3200 JHMS = AXs 280l 20HAMH, Of 282 Soi HOIHE
O &% QA Oloie = RUCH



softdrink_mds.sav: X2 (58%, 1~7&)
A: Flat~Fizzy, B:Expensive~inExpensive, C:hard to find~ easy
D: Bland~Flavorable, E: Lack of aftertaste~presence of aftertaste

F: Not sweet ~ sweet, G: Not satisfy thirst~satisfy thirst
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H-HE2A-UXAHTY(PROXSCAL) ~OIOIEEA-UOIHZREH 28HZE 2
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o8 1 DPepsi
Tab
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-

0.2

Seantle CrPepper
-

0.0000

T2

Sprite
-
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-

-0.4 SkOrange
-
G Yorapa

-0.8

Xp= 1
cities.sav: 9 T AlQl AXEAHE Hel(A0IA), Helsa
==

~HOIEHEA-HOIE It 2 &#HZ (default)
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